ECE 323 - Quiz 3: Name

BIJT Amplifiers -

December 3, 2015

1) Determine the Q-point for the following BIT amplifier. Assume B =100
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2) Design a BJT circuit to bias the Q-point so that

« Vee=6V,and
+  The Q-point is stabilized for variationsin B {(1 + )R >> Rpy}. Assume § =100
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3) Draw the small-signal model (AC circuit) for the following circuit. Assume

. B=100
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4) Find the 2-port model for the following circuit
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5) Find the 2-port model for the following circuit
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Colbert Trivia Bonus! What priceless artifact can be seen on the set of the Colbert Show?

+  Edward Snowden's keyboard
+ A statue from Babalonia, given by a fan who fatght in Iraq

»  Frodo Baggin's sword, Sting, from the Lord of the Ring's movie set

» Thor's hammer from the 1st Avenger's movie
<faptain A”fnefi‘“cjg's shield




